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QUESTION ONE: IMPACT OF A SUBSIDY ASSESSOR'S

An expert in population nutrition at Auckland University, Boyd Swinburn, says
that poor diet is now a bigger cause of ill health than smoking in countries like New
Zealand. Subsidising fruit and vegetables could improve the country’s health.

Source: http://www.radionz.co.nz/news/national/123254/food-taxes-and-subsidies-'could-improve-health’

To encourage healthier eating, the government could look to subsidise fruit and vegetables.

Graph One: Market for fruit and vegetables — impact of a subsidy L
S

Jf:“féz;(a) ()  On Graph One, the original equilibrium price is P, and the original equilibriu 3
is Q,. Show the impact of a subsidy on the market for fruit and vegetables by clearly
labelling the new equilibrium price P, and the new equilibrium quantity Q,.

(i) Explain in detail, using market forces, how equilibrium in the market for fruit and
vegetables would be restored. In your answer, refer to Graph One.
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(b)

(i)

3

On Graph One, complete the following to show the impact of a subsidy on the fruit and
vegetables market:

Shade in the increase in consumer surplus m

e
__*  Shadein the increase in producer surplus
Shade in the deadweight loss e
Label the area of total cost to the government using the letters A, B, C, and E.

(ii)

Refer to Graph One to compare and contrast the impact of a subsidy on the New
Zealand fruit and vegetables market. In your answer, include the impact on:

consumer and producer surplus
. government
. allocative efficiency.

gua"?’ﬁld.{‘ }!")Cr'@dfé?f zg‘cau_;‘e Consume’s w Fy oy
0o ¢, Mo gl Im\' Sa'*l'-/aoL‘m per- il T ,pa-‘cé

d G
decreases o  Po =P1 . Also  Aloe is ke
Jnerease in /ﬂlmwl Sy e <01 apil

. K’/ . >
‘¢ o more a/?c:;\r:OG‘é[Q - e cngmser, g/
For— : P”‘b(;\ucé?' Slu;p&-&f f+ 1< ’ﬁ Sare  ag
f'fﬁe p/aﬁ P MG.DQ.Q/ per cnit  increarar @7@@
o?c //Zz‘,- Cof-} Sk ?mciﬁw.cﬁbn. Al ’/@2 I

AN increale In Ouﬂ!ﬂuﬂ(’ Prodkuceas agf

ke
‘ : oz 7

4

Az br Mo clbed, £ be /3«?9[@@%@4!

W Bovurud sl pany, o 5] ofn i

EC) or(PP,B c,P1)./) 7 il

J&Q@M@_JMJI_F bt do! N .
longer  docorer  Albiadve it (AE) o5
’}lz;; 1< a ol@-o\ wefc:/lv% lgs /Z‘l% acclsf
Mot jsoF  caked o Contumert o
PrcCLLearg’ . 2:’(‘ Dift 1 oow B,C,,mcl
ol e%wi’/,'éff'w /po;}# }//

Economics 91399, 2017

ASSESSOR'S
USE ONLY

|

Ms




QUESTION TWO: IMPACT OF A QUOTA

A quota on production limits the amount produced, forcing the price up.

=

A quota imposed on products with different elasticities can have varying impacts. Graphs Two and
Three show a quota that halves the original production of an inelastic good and an elastic good,
respectively.

Graph Two: A good with inelastic demand Graph Three: A good with elastic demand

P;;‘;e A Quota
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|
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> 0 Q' >
Quantity Quantity

(@) Use Graph Two above to complete Table One, to show the impact of a quota. Use the
i, numbers in the graph to represent the respective areas:

8 Table One

= Numbers from Graph Two — Inelastic Demand
Change in consumer surplus | [ oce 3 ancl Z

New producer surplus 4 cma 2
Deadweight loss . 2 0d &

(b) () Referto Graph Two and Table One to fully explain the impact of a quota on:
. consumer surplus '
. producer surplus
# allocative efficiency.
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(i)  Use Graphs Two and Three to compare and contrast the impact on consumer surplus
and allocative efficiency when goods have different elasticities of demand.
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QUESTION THREE: RISING RENTS

Rents, particularly in Auckland, are set to increase, with landlords blaming housing
shortages and an unprecedented interest in their properties. .

Source (adapted): http://www.nzherald.co.nz/business/news/article.cfm?c_id=3&objectid=11779030

The rising rents have largely been driven by increasing demand.

Graph Four: Auckland rental housing market — increasing derhand
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P
e
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(@ () On Graph Four, show the impact on the market for rental housing in Auckland as a
result of increasing demand. Clearly label the new equilibrium price P, and the new
equilibrium quantity Q,. ‘
(i)  Explain in detail, us.ing market forces, how equilibrium in the Auckland rental housing

market would be restore'crlmswer, refer to the changes you made to Graph
Four.
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A possible intervention to keep rents from rising is a maximum rent control. Graph Five below ASSESSOR'S
shows a maximum rent (P ) set below the equilibrium rent of P,. R

Graph Five: Auckland rental housing market — maximum rent control

Rent A
($)

Quantity

)  Complete Table Two below by identifying the relevant labels from Graph Five showing
the changes as a result of a maximum rent control.

(b) (i

Table Two
R e o e Labels from Graph Five
Consumer surplus before maximum rent control H ' Pe) E "
4 Consumer surplus after maximum rent control % . — /11/ Boase Ao R
Producer surplus before maximum rent control Pe j'VI’ .,/ E — ' ’
Producer surplus after maximum rent control lex;(, T ’, A 1.5
Deadweight loss _ G‘, /:}, E —

(i)  Referring to both Graph Five and Table Two, compare and contrast the impact on
tenants, landlords, and allocative efficiency in the Auckland rental housing market as a
result of a maximum rent control. In your answer, explain the change in:

. consumer and producer surplus for tenants and Iandlords
. allocative efficiency.

_@_gegg_use (ﬁp /% Mhekimen = jaRe-l MMW
S ,_/F[Vq' L )/ n cﬁ_{u;@ ée caul e ’/Ze mﬂt—rg&L i
/IIQFIL@ qu‘ '@LM i '/r\vm Te ’WMM :

/fZé/-f? Nt a J‘fagm-‘ﬁcm% Inerage ée.c:q “©

Ot/_%&t‘f' Jm < alczc_%__a_fezl from Qp Q) becawce |

#rmr- ace  only  cupplite ot Q1 /
7 7 /

More answer space is available on the next page.

Feonomicrs 91399 2017



ASSESSOR'S

WM“ ] Zan Lo udang

USE O
a f/mr?émﬁ o

Conurer _are domadte  of Q2. C‘@‘é—rﬂ—z%m;
;%#W‘%cm_gé%i%w CchAJ

S

P@cjuw SW}D[MI CLQCZ/@QI@( L-@Cﬁb—ﬂ!e 67[‘ ﬁé

}71 3 P{:’,/ -’}'O Maxj, C-r /?’ /

m%\z; o e 1 M 6 % ’Pn:-?cluc_ed Mﬁ?l@f
. m Olrzcrec"cfef ﬂprom

P e;__iﬂ_i?__?fﬂ AN, /’lr‘m.f

On' eorn Pn\ux | J)é,cm»cre :

(WOA.?“LWK C CAnnd! /'

" up

dZQ "an‘?’ } "é‘z ’:”‘ &MPL 4- &caus‘e 'fZ«i LT

MNME X/ mum

/ﬂe\z Can ,fpau Lf W@H ééjau dZQ,

LauutiL'l\m’; abrl\fg; : Fonax 72{&:»@'6 of %& O‘u(/;?é:('}
_Cf"eehféf’ ’ﬁ;em QQ, -Q( ) Caquo %aﬁ

docrease

)'\n 2( ’f(\f‘c“m }7@ j/E )L@ pmax, Z A

ﬁ" OUQQ}” - Caurel //Zé mc.réa;}' e noz

/ﬂﬁW
74

Aé’ U //0 oaJ/ve e o OI‘QA} é(..c_::’u..r’ﬁ

W
i3
_%Zé/_e L

Suf;f/a(f ‘7203 /f"n C}ngpJ é._, o~y

pacdy

ot GhE (PUL) e s G,

— Mun

caule g u"}:ﬂq'f

< Zonc: o 0’0&( 7LC> //Zé ?AZM.I /:’Ln"mn f)aa'n‘}'

Qe

!D\AJ’ na{ f ov?L G /

/ Economics 91399, 2017 , ; ]



Merit exemplar 2017

Subject: | Economics Standard: | 91399 Total score: | 16
Grade .
Q score Annotation

The candidate eventually shades and labels the graph correctly, importantly
crossing out the first two attempts to make it clear which graph is submitted.
Market forces are explained in detail by referring to the graph. The producer
surplus is explained in detail by using both price and quantity, although profit
and output are the terms used. Holistically, the understanding of the impact on
producer surplus is evident for an M5.

The areas on the graph are correctly labelled. Changes to price and quantity
are both correctly explained for Merit evidence for consumer surplus. Also, the
impact on consumer surplus and allocative efficiency from different elasticities
of demand is explained in detail. An M6 is awarded overall, but this is closer to
an M5 than an E7.

Both graphs are labelled correctly. Market forces are explained, but not in
detail this time as the candidate does not use quantity demanded and demand
correctly. This is a lapse in concentration as the terms were correctly used in
Question One. The tricky consumer surplus is explained in detail as one
change outweighs the other, but the other impacts are only explained briefly.
This is only barely an M5.




